Rectangle Measurements (A)

Calculate the missing measurements for each rectangle.

: 2. 3
z 5
3’ A
: ]
F1---o- 37.8ft ~-------- 3 ‘
P =7 A P
A=7 e’
P = 104.44 km
A=7?
| 4. |
S -
< |
Q |
py A ? -
| P =51.12 in
oo P e N A = 160.704 in?
P="7
A = 924.48 AU?
; 6. |
: ;
o |
<o kt—=—===- ? -
o N3
j P = 79.56 mm
B . A = 379.692 mm?
N P _ ?

A = 1959.39 cm?
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Rectangle Measurements (A) Answers

Calculate the missing measurements for each rectangle.

| 2. [
b g
2 4
| S
F1---o- 37.8ft ~-------- 3 ‘
P =1148 f.tQ «i***' 27.02 km -----
A = 740.88 ft P — 10444 km
A = 680.904 km?
3 4. [
i <
< -
o
3 R L
| P =51.12 in
1o 38.52 AU ----------- ) A = 160.704 in®
P =125.04 AU
A = 924.48 AU?
! 6. |
: =
> 2
g 1 23.88 mm -----
j P = 79.56 mm
| A = 379.692 mm?
F1o---m- 53.1cm - ----------
P =180 cm

A = 1959.39 cm?
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Rectangle Measurements (B)

Calculate the missing measurements for each rectangle.

| 2. i

'-U I

> ,

= =

o ;

(i 342yd------ ei ******** 5880 nm ----------
p=7 P = 162.2 nm
A=7 A=7

T 4. |7
; 6#‘ ——————————— VR
| P =110.6 cm
! A = 578.2 cm?
ei ******* 9.66 in - --------
P="7
A = 76.1208 in?
3 6. [
2
iy N
S S
o |
: (“l ————————— P e - - - -
6?‘ ———————— P - - - - .
H i P="7
P =7 A = 1109.76 cm?

A = 1088.64 yd?
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Rectangle Measurements (B) Answers

Calculate the missing measurements for each rectangle.

‘ 2. |°
= g
= a
m' o
% =
Fro---342yd------ T 58.80 nm -~ --------
P =106.2 de P = 162.2 nm
A = 646.38 yd A = 1311.24 nm?
; 4. |
) 3
55 e 413 cm ----------
% A
= P =110.6 cm
i A = 578.2 cm?
ei ******* 9.66 in - --------
P = 35.08 in
A = 76.1208 in?
| 6. [
- -
- o
o S
o |
i ‘ *i ******* 4080 cm --------
fro-- 360yd ------- ’ P = 136 cm
P = 132.48 yd A = 1109.76 cm?

A = 1088.64 yd?
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Rectangle Measurements (C)

Calculate the missing measurements for each rectangle.

| 2. 1
g |
A \
R i 61.2 ft ------------- |
- A —— 17.6 mi -------
P =7 .
A =7 P =576 mi
— PR
- 4. :
= l
S |
NeJ |
67 777777777777 ? 7777777777777 I
P=7 ~
A = 117.8712 nm? |
G#‘ —————— P — - g
P =114.8 nm
A = 806.05 nm?
1 6. |
- )
> |
© Ft-=—-=-==-= P
2 N3
| P =93.24 mm
1 A = 506.268 mm?
oo R
P = 55.8 yd
A=7
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Rectangle Measurements (C) Answers

Calculate the missing measurements for each rectangle.

| 2.
7
&
frommooeee- 61.2 ft -------------
P = 167.58 ft
A = 1382.508 ft?
. 4.
a
S
Ne)
F1- o 1836 nm - ----------
P = 49.56 nm
A = 117.8712 nm?
| 6.
o
=
©
«
ei ——————— 153 yd---------

P = 55.8 yd
A = 192.78 yd?

e 17.6 mi -------

k+--11.2mi---

P = 57.6 mi
A = 197.12 mi?

k+------329nm -------

---24.50 nm ----4
P =114.8 nm
A = 806.05 nm?

T

-+ 17.22 mm -

-----294 mm ------
P =93.24 mm
A = 506.268 mm?

£
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Rectangle Measurements (D)

Calculate the missing measurements for each rectangle.

1 2. |
- N
L |
‘ ¢ 7777777 4599 yd --------
fp--- 1926 ---- P = 136.08 yd
P=7 A=7
A=7
! 4. |
: 3
=] |
N ~
> l
e*‘ ——————————— VAR E i
L Kt-———=--=-- VI A
pP=7 *
P =125.6 m
_ 2
A = 155.232 nm A — 964.8 m?
3 6. |
1 ;
‘ S
o~ g
oo 33.6 mi -~ -----
Fr1---o-o-- [ R P =7
P = 50.58 mm A=7

A = 158.562 mm?
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Rectangle Measurements (D) Answers

Calculate the missing measurements for each rectangle.

3 2. |
b 8
N A
| Ft-—=-====-- 45.99 yd ********
f1ooo 19246 ---- P = 136.08 yd
P="7321t A = 1014.0795 yd?
A = 334.08 ft?
' 4. |
= =
g —
X &
o 5
A 16.8 nm --------- L i
& P 5203 m F1o- 360m ------- 1
A= 155232 mm? P esbm
T Ho0.e0s A = 964.8 m?
| 6. |
5 E
g &g
| 1o 33.6 mi -------
«i ***** 13.8 mm ------> P =119.36 mi
P = 50.58 mm A = 876.288 mi?

A = 158.562 mm?
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Rectangle Measurements (E)

Calculate the missing measurements for each rectangle.

| 2. |7
EE k+---252mm -----
Q N
< P = 78.54 mm
1 A:?
f1---- 1580 mi -~~~ 4
P=7
A=7
4. 1
P A
P =175.2 mm
A = 1728 mm?
fffffff 2124 mm --------
P=7
A = 403.56 mm?
3 6. |:
P 5
£ .
g >
. y f4---- 26.6m ------
P — 126.48 in pP=7
A=7? A=7
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Rectangle Measurements (E) Answers

Calculate the missing measurements for each rectangle.

; 2 [
| s
E = 25.2 mm -----
Q N3
© P = 78.54 mm
| A = 354.564 mm?
6i****15.80ml ***** &
P = 63.6 mi
A = 252.8 mi®
' 4. |7
! S
= R
- ;
§~ f1--- 57.60 mm ---------
| P =175.2 mm
; A = 1728 mm?
i 21.24 mm --------
P = 80.48 mm
A = 403.56 mm?
3 6. |
= g
£ =
S =
fromeee 36.48 in - ---------> fi7 -7~ 266m------
P=1134m

P =126.48 in

_ s 2
A = 976.2048 in® A = 800.66 m
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Rectangle Measurements (F)

Calculate the missing measurements for each rectangle.

3 2. |1
1 g
| 2
g o
g A ?------- L
ae) N2
| P = 47.76 m
| A=72
1o 26.64m >
P="7
A=7?
| 4. |
£ |
2 o
Ne I
F1------ ? - o P
P=7 P =632 yd
A = 68.364 in® A = 200.64 yd?
| 6. |
=) T
< I
= |
g F1---342 AU ----
| P=7
S A0 AU -l A =9.576 AU?
) P=7
A=7?
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Rectangle Measurements (F) Answers

Calculate the missing measurements for each rectangle.

3 2. 1
| g
‘ &
5 =)
§ ei****lll.()m ***** 9
| P = 47.76 m
| A = 138.32 m?
f1---26.64m - --->
P=11728 m
A = 852.48 m?
j 4. :
3 “
=) o0
F1----108in ----- et - 2280 yd ----------
P = 34.26 in P =63.2 yd
A = 68.364 in® A = 200.64 yd?
3 6. :
l D
I <
= 0
< ™
o |
g F1---342AU0 ----
i P =1244 AU
a0 AU - A = 9.576 AU?
P = 158.8 AU
A = 1570.8 AU?
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Rectangle Measurements (G)

Calculate the missing measurements for each rectangle.

i 2 [
= =
~ (e}
o 4
f1o-o- 417 in ------> R R ;
P="7 P =162.6 AU
A=7 A=7
1 4. |
: (“l ———————————— M
(i 37.031n -7 --mmo e P = 211.6 mi
P=7 A = 2719.2 mi?
A = 1244.208 in?
| 6. :
a .
2 g
o o
— (@)}
61 77777777 7 7777777777 %
P =7 ) ei ***** 430mi ------ 1
A = 380.88 m P2
A="7?

Math-Drills.com




Rectangle Measurements (G) Answers

Calculate the missing measurements for each rectangle.

=
=
(ap]
f1o-o- 417 in ------>
P=15921in
A = 15.8043 in?
é
2
fim e 37.03 in ---------
P = 141.26 in
A = 1244.208 in?
=
2
=
F1-- 276 m ------->-
P=828m
A = 380.88 m?

2.

=)
<
o
8
i 43.30 AU ------ -
P =162.6 AU
A = 1645.4 AU?
;
3
frmmeeee 61.80 mi -----------
P =211.6 mi
A = 2719.2 mi?
g
&
R
*i ***** 43.0mi ------ A
P =147.8 mi

A = 1328.7 mi?
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Rectangle Measurements (H)

Calculate the missing measurements for each rectangle.

3 2. |
: =
— -
| 3
fro 19.64 ft --------
P = ? 61‘ ***** 7 *******
A=7 P = 85.44 AU
A=7?
3 Sl
ei ffffff 4.7mm -------- i
P = 7 6#‘ ********** ? *********** A
A = 19.975 nm? P = 100.6 mm
A = 631.8825 mm?
T 6. ||
g 1
© kt-—---———--=---- VA e
% N
S P =504 ft
; A = 115.2 ft?
ei”*?)?).O cm - - - -
P=7
A=7
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Rectangle Measurements (H) Answers

Calculate the missing measurements for each rectangle.

3 2. |
: =
— -
| 3
fro 19.64 ft --------
P = 66.48 ft «i**18.72AU'~7
A = 267.104 ft? P = 85.44 AU
A = 449.28 AU?
3 4. |
| 3
ei ffffff 4.7nm-------- i
P =17.9 nm “i ****** 2595 mm -------- 4
A = 19.975 nm? P = 100.6 mm
A = 631.8825 mm?
' 6. |
| =
E Nej
S fr-------o- 19.2 ft ------------ 1
o
S P =504 ft
; A =115.2 ft?
ei”' 33.0 cm ----+
P = 144.6 cm

A = 1296.9 cm?
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Rectangle Measurements (I)

Calculate the missing measurements for each rectangle.

3 2. |1

= ..

1 l

1

| - 128 nm -

1 P = 55.28 nm
e1”*'19.35cm fffff A A =2

P="7
A="7

| 4. |

= .

% |

S |

! T P
IS ) P = 55.74 mm

§ P_ 2 A = 169.83 mm’

A = 461.54 in?

: 6. [

koo O |
P = 104.8 m frooo R 5
A = 653.95 m? P = 140.94 in

A = 1187.703 in?
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Rectangle Measurements (I) Answers

Calculate the missing measurements for each rectangle.

k4----- 2315 cm -------

£

----1935cm ----- A

P =285

CcIm

A = 447.9525 cm?

E
%
?
1o 24.55 in - -------
P =R86.7 in
A = 461.54 in?
<
ei ********** 3190m -----------
P=104.8 m
A = 653.95 m?

2.

ka-- 128 nm ----

F+---14.84 nm ----+

P = 55.28 nm
A = 189.952 nm?

=
(@)
*i ********* 18.87T mm ----------+-
P = 55.74 mm
A = 169.83 mm?

E

i

g

£ 27.9in -~

P = 140.94 in

A = 1187.703 in?
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Rectangle Measurements (J)

Calculate the missing measurements for each rectangle.

! 2. |1
| g
= 8
= o0
o S
S <t
: el ————————————— VA e
[ 1844 mm =777 P = 21.58 km
P =7 A=7?
A=2?
| 4. i
- ~
< |
g 67‘ ffffff P m - -
h P = 22.36 AU
I —— i A = 28.8456 AU
P=7
A = 228.48 AU?
: 6. |
el
g i
— 2
- ©
ei 777777777 S «i*** 6.88 yd ----- g
A = 19.721 km? A=7
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Rectangle Measurements (J) Answers

Calculate the missing measurements for each rectangle.

! 2. |1
é i:
i [ee)
= S
2 <f
famnnnnnnne 6.71 km === ===
I 1844 7o P = 21.58 km
b= 7288 mm A = 27.3768 km?
A = 331.92 nm?
4. 3
< z
2 = T4 AU-----
; P = 22.36 AU
I R iy 1 A = 28.8456 AU
P = 62.08 AU
A = 228.48 AU?
| 6. |
el
5 =
— 2
N *®
‘i ****** 481 km ------->- ‘i”’ 6.88 yd ----- 1
P = 17.82 km P =29.84 yd
A = 19.721 km? A = 55.3152 yd?
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